Reference : EXAM / JPP / BITIC / JAIPUR / BE-CS-NONCOLLEGIATE / (MO/20) / 2019-2020

SESSION : 2019-2020 CLASS : BE-CS BRANCH : ENGINEE							G					S	MONTH OF EXAM : OCT-2020									
ROLL NO	NAME		U L	EC4205(3)		-		-	-	-	-		-		-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			G	R. PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/25030/13	Aman Sankhla		U (C 15.0	C	15.0	-	-	-	-	-	-	-	-	-	-	-	-	30.0	6.0	5.00	_
BER25050/15			L .	· -	-	-	-	-	-	-	-	-	-	-	-	-	-	-	50.0	0.0	5.00	
1205(3) 1105(3)	MICROPROCESSOR AND MIC SOFT COMPUTING	ROCONTROLLER				- - - - -														Controller of Exam		
									Disclain	ner												

SESSION : 2019-2020 CLASS : BE-CS					BRAN	СН :	ENGINEER	RING					SEM	ESTER / 1	RIMESTE	R : NO	ONCOLLE	GIATE			MONTH OF EXAM : OCT-2020		
			U	MA2201(4)		CS6	101(3)	EC3	201(4)	MA1	201(4)	CS51	.01(4)	CS23	301(4)	EE2201(4)		- 1					
ROLL NO	ROLL NO NAME		L		-		-		-		-		-		-		-	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/25025/14	Tanmay Verma		U	С	20.0	С	15.0	C	20.0	C	20.0	C	20.0	С	20.0	С	20.0	-	-	135.0	27.0	5.00	-
DE/23023/14			L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	155.0	27.0	5.00	-
A2201(4) 56101(3) C3201(4) A1201(4) 55101(4) 52301(4) 52201(4)	ADVANCED ENGINEER DESIGN AND ANALYSI DIGITAL ELECTRONIC ENGINEERING MATHE FORMAL LANGUAGE & FUNDAMENTALS OF D PRINCIPLES OF ELECT	S OF COMPUTER ALGORI' S MATICS & AUTOMATA THEORY ATA STRUCTURE	THMS				-													c	Parvdey ontroller of Examina	tions	
										Disclai	mer												

SESSION :	2019-2020 CLASS :		BRAN	СН :	ENGIN	EERING	Ĵ			5	EMEST	ER / TI	RIMESTE	ER :	MONTH OF EXAM : OCT-2020							
ROLL NO	NAME		EC62 EC42	205(3)	EC5	-	EC32	-	CS71	.07(3)		201(3)	EC4	205(3)	EC52	203(3)	EC20		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	101115	CILLDITS		
BE/25179/13	PRAKASH KUMAR	U	C	15.0	С	15.0	С	20.0	С	15.0	С	15.0	С	15.0	C	15.0	F	0.0	125.0	28.0	4.46	_
BE/23179/13	I KAKASH KUMAK		C	15.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	125.0	28.0	4.40	
C6205(3)	: COMPUTER NETWORKING					EC4201(3) : VLSI DESIGN																
C5201(3)	: DIGITAL COMMUNICATION SY	STEM			-				:													
C3201(4) S7107(3)	: DIGITAL ELECTRONICS : DIGITAL IMAGE PROCESSING					-			:										C	Dader	r	
C6201(3)	: INTELLIGENT INSTRUMENTAT	TON				-			:											Jan (
C4205(3)	: MICROPROCESSOR AND MICRO		DLLER			-			:										Contr	oller of Examir	nations	
C5203(3)	: MICROWAVE ENGINEERING					-			:										Cond	oner of Examin	iutions	
C2001(3)	: PRINCIPLES OF ELECTRONICS	ENGINEE	RING			-																

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Reference : EXAM / JPP / BITIC / JAIPUR / BE-EC-NONCOLLEGIATE / MO/20/ 2019-2020

By the order of Examin	nation committee, the following is the result of	of BE-E	EC - NON	COLLEG	IATE Se	mester	held in	the mo	onth of C	OCT-202	20				Da	te :						
SESSION :	2019-2020 CLASS : BE-E	2	BRANCH : ENGINEERING								:	SEMES	STER / 7	ΓRIME	STER	: NO	NCOL	E MONTH OF EXAM : OCT-2020				
ROLL NO	NAME		MA1	-	-	-	-	-	-	-	-	-	-	-	-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/25117/14	Atul Raj	U	С	20.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	5.00	_
DE/2311//14			-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	2.00	
MA1201(4)	: ENGINEERING MATHEMATICS				-				:													
-	:				-				:										1	DA		
-	:				-				:										C	Jama	4.	
-	:	-					:										(Controller of Exam	xaminations			
-	:				-				:													
									Disc	laimer												

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

SESSION : 2019-2020 CLASS : BE-EE BRANCH :							ERING			SEMESTER / TRIMESTER : NONCOLLEGIATE								MONTH OF EXAM : OCT-2020				
		U	J MEE1151(3)) EE5203(3		EE42	209(4)	EE3	201(3)	EE52	05(4)	EE52	07(3)	EE62	03(3)	EC20	01(3)				
ROLL NO	NAME	L	EE7203(3)		MA2201(4)		CH1401(3)		MA1	201(4)		-	-				-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/25129/14	pappala anmish	U	С	15.0	C	15.0	С	20.0	С	15.0	C	20.0	C	15.0	C	15.0	С	15.0	145.0	29.0	5.00	
BE/23129/14		L	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	145.0	29.0	2.50	-
BE/25134/14	Tashkil Alam	U	-	-	С	15.0	-	-	-	-	-	-	-	-	-	-	-	-	70.0	14.0	5.00	_
BE/23134/14		L	-	-	C	20.0	С	15.0	С	20.0	-	-	-	-	-	-	-	-	/0.0	14.0	5.00	-
MEE1151(3) EE5203(3) EE4209(4) EE3201(3) EE5205(4) EE5207(3) EE6203(3) EC2001(3)	ADVANCED POWER ELECTRONICS ELECTRICAL MACHINES – II ENGINEERING ELECTROMAGNETIC INTRODUCTION TO SYSTEM THEOR POWER ELECTRONICS POWER SYSTEM – I POWER SYSTEM - II PRINCIPLES OF ELECTRONICS ENGI	:	ADVA ENGIN	CHGEAR NCED E NEERING NEERING	ENGINE G CHEN	ERING fISTRY	MATH	EMATI	CS				Contro	Pandey oller of Examin	ations							

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.